AMENDMENT NUMBER 4 TO "AGREEMENT FOR CONTRACT SERVICES"

THIS AMENDMENT NUMBER 4 TO AGREEMENT FOR CONTRACT SERVICES (the "Fourth Amendment") is made and entered into as of April 28, 2022 by and between the CITY OF IRVINE, a municipal corporation ("City") and Parkhouse Tire, Inc., a California corporation ("Contractor"), for the purpose of amending the written "Agreement for Contract Services" entered into between City and Contractor as of April 18, 2019, City of Irvine contract number 10581 (the "Agreement").

- 1. The expiration date of the Agreement is changed from April 30, 2022 to April 30, 2023.
- 2. PART V, ATTACHMENT II, is replaced in its entirety with EXHIBIT I, attached hereto. The not-to-exceed value for the current renewal period is increased by \$43,409.97; from \$257,495.03 to \$300,905.00.
- 3. Except as set forth in this Fourth Amendment, all terms, conditions and provisions of the Agreement are unchanged and remain in full force and effect.

(Signatures follow on next page)

IN WITNESS WHEREOF, the parties hereto have caused this Fourth Amendment to the Agreement to be executed by their respective duly authorized agents as of the date first set forth above.

CITY OF IRVINE

Jaimee Bourgeois -E369DC231FCB41F.

Jaimee Bourgeois

Its: Interim Director of Public Works and

Transportation

DocuSigned by: Oliver C. Chi

Oliver C. Chi

Its: City Manager

PARKHOUSE TIRE, INC.

Brian Parkhouse -B50E6AF80615407..

Brian Parkhouse

Its: President

Cody Parkhouse

Cody Parkhouse

Its: Secretary

Attest:

Carl Petersen

Its: City Clerk

APPROVED AS TO FORM: **RUTAN & TUCKER, LLP**

By: Jeffry Melding
Jeffrey Melching

EXHIBIT ISCHEDULE OF WORK AND PRICING

			ESTIMATED ANNUAL	UNIT	LINE TOTAL	
ITEM#	ITEM DESCRIPTION	UOM	QTY.	PRICE		PRICE
1	11R-22.5	EA	100	\$ 394.38	\$	39,438.00
2**	18X8.50-8	EA	60	\$ 34.42	\$	2,065.20
3**	18.5 X 8.5-8	EA	80	\$ 63.22	\$	5,057.60
4	11R-22.5	EA	30	\$ 421.03	\$	12,630.90
5**	P205-65-R16XL	EA	40	\$ 92.23	\$	3,689.20
6	225-70-19.5	EA	40	\$ 295.18	\$	11,807.20
7	235-75R-15	EA	50	\$ 106.85	\$	5,342.50
8*	245/55R18	EA	200	\$ 126.85	\$	25,370.00
9*	245/55R18	EA	200	\$ 126.85	\$	25,370.00
10	245-60-R18	EA	40	\$ 191.20	\$	7,648.00
11*	255-70-R17	EA	30	\$ 170.59	\$	5,117.70
12**	225-70-R19.5	EA	40	\$ 230.74	\$	9,229.60
13*	11R22.5M726ELA	EA	10	\$ 437.76	\$	4,377.60
14	11R22.5561A-16PLY	EA	10	\$ 404.44	\$	4,044.40
15*	MPT732	EA	10	\$ 808.24	\$	8,082.40
16	P235-60-R17	EA	80	\$ 73.15	\$	5,852.00
17	LT225-75-16	EA	80	\$ 106.47	\$	8,517.60
18	P235-40-R19	EA	40	\$ 135.41	\$	5,416.40
19	P255-60-R18	EA	80	\$ 121.93	\$	9,754.40
20	P235-60-R17	EA	80	\$ 83.49	\$	6,679.20
21	235/70R-17	EA	60	\$ 108.63	\$	6,517.80
22	265/60R17	EA	20	\$ 120.67	\$	2,413.40
23	LT245-75-16	EA	60	\$ 108.69	\$	6,521.40
24*	LT245/70R17	EA	40	\$ 118.24	\$	4,729.60
25	LT245-75R17	EA	140	\$ 132.26	\$	18,516.40
26	P245-75-R16	EA	80	\$ 108.69	\$	8,695.20
28*	LT265-70-17	EA	20	\$ 133.05	\$	2,661.00
29*	LTLT275/65R18	EA	20	\$ 157.21	\$	3,144.20
30	196-65-R15	EA	50	\$ 73.55	\$	3,677.50
31	215-55-R17	EA	50	\$ 82.60	\$	4,130.00
32	215-55-R16	EA	30	\$ 115.77	\$	3,473.10
33	225-70-R19.5	EA	40	\$ 281.38	\$	11,255.20
34*	P255-70-R16	EA	40	\$ 115.44	\$	4,617.60
35	P235-40-19	EA	40	\$ 124.20	\$	4,968.00
36	P235-65-R18	EA	40	\$ 105.91	\$	4,236.40
37	P265-60-R17	EA	30	\$ 120.67	\$	3,620.10
	Harrier Data fan aan daa					
	Hourly Rate for service					
40	call during normal	□ ^	20	¢ 404 50	ф	2 000 00
42	business hours	EA	20	\$ 104.50	\$	2,090.00
	Hourly Rate for service					
	call AFTER normal					
43	business hours	EA	1	\$ 149.00	\$	149.00
- 1 0	Dadifiood fiourd	∟ /\	ı			300,905.80
				iotai	Ψ	,

^{*}Reduced rates granted on some tires where applicable

Tires not listed will be charged equivalent to the NASPO 22-23 Pricing

^{**}Non-Guaranteed



P.O. BOX 2430 • BELL GARDENS, CA 90202 (562) 928-0421 • FAX (562) 928-6750

DO A DÆMEDOENOV GEDVICE

January 1st, 2022

PARKHOUSE TIRE LABOR PRICING

ROAD/EMERGENCY SERVICE					
Hourly- M-F 7:00 AM-5:00 PM	\$104.50				
* 1 hour minimum Portal to Portal					
*Plus, mileage charge (see below).					
*Piecework is included in hourly rate.					
Hourly- After hours, Weekends and Holidays	\$149.00				
* 2 hour minimum Portal to Portal					
*Plus, mileage charge and dispatch fees (see below).					
*Piecework is included in hourly rate.					
After hours dispatch fee	\$ 20.00				
Mileage – Up to 20 miles	N/C				
Mileage – Over 20 miles each	\$ 1.00				
Fuel Surcharge – all calls	\$ 20.00				
FLEET SERVICE					
Hourly- Pre-scheduled service/service to customer yard	\$110.00				
M-F 7:00AM – 5:00 PM					
* 1 hour minimum Portal to Portal					
*Piecework s included in hourly rate.					
Fuel Surcharge – all calls	\$ 20.00				
YARD SERVICE/PIECEWORK					
Dismount & mount medium truck on vehicle	\$ 32.00				
Dismount & mount medium truck loose	\$ 22.00				
Dismount & mount duplex/super wide on vehicle	\$ 39.00				
Dismount & mount duplex/super wide loose	\$ 31.00				
Flat repair medium truck – on vehicle/loose	\$ 42.00 *				
Flat repair duplex/super wide – on vehicle/loose	\$ 52.00 *				
Wheel switch	\$ 13.00				
Balance Inc. Weights	\$ 35.00				
*Plus, repair materials					

LOS ANGELES COUNTY **5960 SHULL STREET** BELL GARDENS, CA 90201 (562) 927-8333

INLAND EMPIRE 13655 SANTA ANA AVE. FONTANA, CA 92337 (909) 428-1415

LOS ANGELES 11764 SHELDON STREET SUN VALLEY, CA 91352 (818) 767-4929

VICTORVILLE 16350 D STREET VICTORVILLE, CA 92392 (760) 241-4455

ORANGE COUNTY 711 S. GRAND AVE. SANTA ANA, CA 92705 (714) 542-4161

PALM SPRINGS/INDIO **72320 VARNER RD.** THOUSAND PALMS, CA 92276 (760) 343-1018

SAN DIEGO 4660 RUFFNER STREET SAN DIEGO, CA 92111 (858) 565-8473

BAKERSFIELD 115 UNION AVENUE BAKERSFIELD, CA 93307 (661) 324-4532

ESCONDIDO 841 ROCK SPRINGS RD. ESCONDIDO, CA 92025 (760) 291-1199

VENTURA COUNTY 663 MAULHARDT AVE. **OXNARD, CA 93030** (805) 604-0461